A B RE

K =k HA T

W44

x> — 245> + 189x — 486 = 0

X+ 15%° + 62x+ 48 = 0

106> — 92 —40x+ 36 =0

50 +39x% + 16x— 84 =0

X —17x° +9%4x— 168 =0

3
=

H #A:

6 — 41x% — 66x+ 80 =0

40 =33 +3x+40=0

Y+ —1lx—12=0

X =152 +62x—T72=0

102> — 39x% — 373x+ 360 = 0
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A B RE

K =k HA T

W44

x> — 245> + 189x — 486 = 0
x=9,9,6

X+ 15%° + 62x+ 48 = 0
x=—6,-8,—1

10x° — 9%* — 40x + 36 = 0
9

x=—,2,"2
10

5¢ + 392 + 16x— 84 =0
6
~, 7,2
5

x:

X —17x° +9%4x— 168 =0
x=17,6,4

H #A:

60 — 41x% — 66x+ 80 = 0

x:

, 8,72

ANl

43 — 332 +3x+40=0
5

x=-,—-1,8
4

Y+ —1lx—12=0
x=—-4,3,-1

X =152 +62x—T72=0
x=2,49

10x° — 39x% — 373x + 360 = 0
9

x=—,—58
10
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